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INST TION

1. The Question Paper contains 150 questions. (Part-A) 1 to 75 questions relate to General Studies,
Mental Ability and Mathematics, (Part-B) 76 to 150 questions relate to General Forestry. Each
question carries 1 mark. For each wrong answer 1/3™ mark will be deducted.

2. Part-A — General Studies, Mental Ability and Mathematics is set in English and translated
into Telugu language. The English version will be considered as the authentic version for
valuation purpose. Part-B — General Forestry will be in English Only.

3. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained for
evaluation and the second copy (Duplicate) can be taken by the candidate.
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4. Write your Registered Number on the top of the Question Paper. On the right hand corner of
the first page, the Question Paper Series is printed as @ or(B)or @ or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series is printed as
@ @ @ Darken the appropriate circle, as per your Question Paper Series with

Blue/Black Ball point pen. Gel pens/pencils are not allowed.
Example to fill up the Question Paper Series on the OMR Answer Sheet

If your Question Paper Series is A, please fill as shown below :

®@®OD

Ifyou have not marked the Question Paper Series on the OMR Answer Sheet Side 1 at Part C,
with Blue/Black Ball point pen, or marked in a way that it leads to discrepancy in determining
the exact Question Paper Series, then, your Answer Sheet will be invalidated without any
Sfurther notice. No correspondence will be entertained in the matter.

5. Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

6. Each question is followed by 4 answer choices. Of these, you have to carefully select one correct
answer and mark it on the OMR Answer Sheet by completely darkening the appropriate circle
for the question. If more than one circle is darkened, the answer will not be valued at all. Use
Blue or Black Ball point pen to make thick mark to fill the circle completely. Make no other
stains or marks. Using Whitener/Blade/Eraser/Chalk Powder anywhere on the OMR Answer
sheet or any kind of tampering to change the answers on OMR Answer Sheet will lead to
invalidation of the entire OMR Answer Sheet.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

O @@

7. Do net fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

8. Do not mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

9. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
possession of such devices, it will be considered as cheating and strict action taken.

10. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

11. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2%2 Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

12. Before leaving the examination hall, the candidate should hand over the OMR Answer Sheet
top sheet (Original) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.

Carrying away Original OMR Answer sheet will be a criminal offence.
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PART -A

GENERAL STUDIES, MENTAL ABILITY AND MATHEMATICS

1. Van Mahotsav festival in India is celebrated during

(1) First week of July (2) First week of September
(3) Last week of June (4) Second week of September
OSB3 So5TBS0 Sotol PR Ay ?

(1) &8 Boossed 6o (2) Yot It 8o

(3) e espd FBo (4) JRowto Boks 8o

2. Dams constructed on river Krishna

(1) Basava Sagar Dam and Srisailam Dam

(2) Gangapur Dam and Srisailam Dam

(3) Gangapur Dam and Almatti Dam

(4) Basava Sagar Dam and Gangapur Dam
5P SODS 3y essEeen

(1) &3 i»xis gm0 $oBak0 BFeo g0
(2) HorrDHb GRgs> Sobak §Foo Gy

(3) HormDHE Grgmo o0 eseSoed GHgd
(4) 835 PR gm0 30w KorrDd Gy

3. Freshwater content on the earth’s surface is about
1) 1.0% ) 25% ) () 5.0% 4) 0.5%
UR0DS &) $o0Ded T80 [T
(1) 1.0% () 2.5% (3) 5.0% 4) 0.5%

4. Narmada Bachao Andolan involved

(1) Medha Patkar (2) Baba Amte

(3) Both 1and2 (4) Sunderlal Bahuguna

SHO® TS 08¢ 5O

(1) oo end (2) erer ey

(3) 1 50805 2 Boksr (4) oosberd wvies
4

EYE

(A)
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5. In BT Cotton, BT stands for

(1) Bacillus Thermolactis . - (2) Bacillus Thermophilus
(3) Bacillus Thuringiensis - (4) Bacillus Thermoaerophilus
BT 38¢° BT e
(1) erded 6388 (2) =gt B8R
(3) 2rEd BBOBEIVT (4) erRgd §6336°008
6. Leading ethanol producing country g‘g%
(1) UsA ] : (2) Brazil i
(3) India : (4) Vietnam
TS D &h® T SFven.
(1) R (2) B85
3) godosr - (4) ey
7. Which of the following is NOT a UNESCO World Heritage Site ?
(1) Kaziranga National Park ) (2) Keoladeo Ghana National Park
(3) Silent Valley National Park (4) Sundarbans National Park
&5 (200 T¢36° 20 UNESCO (3503 art5idtss (9890 250 9
(1) seeCor 3536 6, (2) EBrerEaBT 3078 I556 >,
(3) 2BoeS 3°§@ I93S FE), (4) Soossbardy 3a3S 6, -
8. The Marine National Park islocated in O
(1) Tamil Nadu : (2) Lakshadweep
(3) Gujarat (4) Dadra and Nagar Haveli
0B IS by 25 &od 2
(1) Ssoreo ; (2) 58S
(3) Koeoed e 4) oo 50850 K8 T30

9. Country liquor in Andhra Pradésh is brewed from the flowers of

(1) Tenduw/Kendu [(2) Mahua (3) Jidichettu - (4) Sal
SOGRBEE’ Tew J075 B Do S0 ST D> 2
(1) Sock /3o (2) S0 (3) 2a3exy 4) >&

5 A)
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10.

11.

12.

13.

14.

Which plant is traditionally known as an antidote for snake bites ?
Kl) Rauvolfia serpentina = (2) Azadirachta indica
(3) Tectona grandis (4) Shorea robusta
SrOSEPAHONT a0 S DEMENT TG 3008, 28 2 Z a
(1) o> éBQoegé (2) wrdss oGS )
(3) SEm ol (4) oo Eaxy
The term Ecosystem was coined by
(1) Eugene P Odum (2) Edward O Wilson
(3) Walter G Rosen (4) Arthur G Tansley
RlopelopvNS) ‘Ecosystem’ (éageia“gﬁa) @) SO I206e TEOO kD ¢
(1) aoed 2. &0 (2) A5k & Doy
(3) >gb &. 8 (4) 56 8. ey,
The National Tree of India is
(1) Ficus benghalensis ; (2) Ficus elastica
(3) Ficus religiosa (4) Ficus racemosa —
rEEBT0 Gao%), B 3ey B
(1) 28 BorrBAnw (2) D5 s
(3) B BOBBTH o (4) DR I
The World Wide Fund for Natufe (WWF) has headquarters at
(1) Paris, France : (2) London, UK
3) Vaud, Switzerland : (4) Rome, Italy
W@ma B Togeaho J5E &od 2
(1) 28R, @ry (2) o0k, 058
(3) =6, xs@sm (4) 85, 309
EEE
Which animal is primarily responsible for transmitting plague bacteria ? Dl
(1) Dogs (2) Rats (3) Bats (4) Cows
10 ergfOair Tk EERS SRS wosude
(1) Sy (2) Seo¥en (3) réyore (4) esdHe

6 A
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15. Which of the following is NOT considered an Indian Major Carp ? gx%
(1) Rohu (Labeo rohita) (2) Catla (Catla catla) .
(3) Mrigal (Cirrhinus mrigala) (4) Tilapia (Oreochromis mossambicus)

5o 08 T3S’ bé‘) B grEdab 56y S0 2
(1) &5 (003> &ors) (2) e (SeT %eT)
(3) QoKS (38R Soyifer) (4) BT (BOITE WD 300x0DED)

16. Dengue fever is transmitted by which mosquito species ?

(1) Anopheles stephensi (2) Aedes aegypti

3) Culex pi;iiens (4) Glossina palpalis ESE
ol e300 B SIS S50 T Doosood 2 =¥
(1) T8 (2) AED e

(3) 7588y Aoy (4) Rome 563D

17. Which insect transmits Chagas disease ?

(1) Sandfly (2) Tsetse fly (3) Black fly (4) Triatomine bug
TR g0 b 3 4650 98 9
1) & 2 (2) edy 2 (3) &5 2 (4) 305e5°208 oh
18. A deficiency Qf igdine in animals leads to which condition ?
(1) Anemia (2) Rickets (3) Goiter (4) Night blindness
350308 e@PES SMse 828 ToBxed ?
(1) srss (2) 885, () Rosoed ] (4) 358
19. ‘Megaliths’ of Andhra region belong to which period ?
(1) Late-Paleolithic Age (2) Iron Age
(3) MesolithicAge (4) Early-Paleolithic Age H4E
e30(S (PO @ﬁaﬁ:ﬁ@ (Megaliths) O SPOS0SH JoBID 2 E!-%
(1) 300-JSd asoro (2) 33% aloKo
(3) SoGso® dﬁi}ﬁo (4) &O-rs0°d aoio

7 (A)
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. : . . _ EHE
20. Which among the following statements regarding Tikkana is incorrect ? g%i

21.

22.

(1) Tikkana was the court poet of the Nellore Telugu Chodas.
(2) Tikkana dedicated Nirvachanottara Ramayana to Manuma Siddhi I1.
(3) Marana and Ketana were the disciples of Tikkana.

l (4) Andhra Bhasha Bhushanam, the first work on Telugu Grammar, was written by Tikkana.
IS0 020 (SO0 T7SFRNO0 " WOSTIW 0 ?

(1) %S JoTH Boore T e G0k, LS 8.

(2) B 553 VBBTEE CTA0Er0’ 0 Botsss 085035 DRI eodso Foyed.

(3) STE:S So00%0 SS5.HHS B0y Favcen.

(4) Boorh T§EGE0R Dookied SIS WONS ‘ol GT GIPHE0’ S0 HHS SDoTE.

Who travelled in the Andhra region as the Swadeshi League activists to promote the ideals of the
Swadeshi movement before Bipin Chandra Pal’s visit to Andhra ? Eg@
s

(1) Nyapati Subbarao and K. Venkata Ramanarao
(2) Adipudi Somanadha Rao and Gadicherla Harisarvottama Rao

(3) Komarraju Lakshmana Rao and Ayyadevara Kaleswara Rao
(4) Gadicherla Harisarvottama Rao and Komarraju Lakshmana Rao

D55 SO 505 D55 Ky S0 3588 s esesTreiss tio TabaRé 338 OR stsseorr
&0 (oS80S’ Bt5e3oR0l IS ?

(1) a°§:>e°3 027079 SoBalin S. IoBLBI0ET°D

(2) SOTE T D S0 TEDG TR B T
(3) TSoTer oFges 09 S0 eaigBIS SBHS oD

(4) mEDE TOIT (S TP Ho0akd FIo0res g P

Who among the following women was arrested for her participation in the Salt Satyagraha and
went to jail along with her months old baby ?

(1) Bharati Devi Ranga
(2) Vallabhaneni Sita Mahalakshmamma

(3) Kammampati Manikyambha

(4) Digumarti Janakamma
53 308 S02reos® ety NErgTEcnd’ FEB0EL0 Tty Dabed, 85 Do HEE Beokh Y Kot
ST 9 g
(1) 558 3D sore OFa
(2) Seaad de° SoPosgsy

3) §$50&O§“€3 ;53°833°§ca§

(4) BIO3Y sy
8 A)
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23.

24.

25.

Andhra Zamindari Ryots Association’s first meeting was held in 1931 at

(1) Venl%"’aftfégiri (2) Visakhapatnam (3) Munagala (4) Guntur

€305 CPRER00T0 B D000 Aoacsed BITFHo 1931 & s 0D 2

(1) Bosesnd (2) dFPIeyE0 (3) ST (4) Koot
Before the formation of Andhra Mahasabha, who among the following, had prepared a map

combining the areas of Madras Presidency, Hyderabad State and Mysore where Telugu-speaking

people were living ? ;2%5}
(D) Challa Seshagiri Rao and Gollapudi Sitarama Sastri [E#:54
2) Dug§i‘rﬁla Gopala Krishnayya and Challa Seshagiri Rao

(3) Gollapudi Sitarama Sastri and Duggirala Gopala Krishnayya

4) Unnava Lakshminarayana and Jonnavittula Gurunadham

SO ST IS 500068, ST PGV, TECLrE T FoB0K0 BoRFEED Beolh Srerd
Pese0 ABIND) @roTrosd 502 8.8 505 Sr2rofolod JS& 2

(1) Ser %";ﬁacb;@ 00050 FGIE DTS T
(2) SofTPe Rare Sy $oBAo S TR0 T
(3) Ford borosord H8us Sofore Mo Ko

(4) &3S 0] Troraihes 500K DB KHETEo

BI5E

Which of the following statements on ‘Rayalaseema Mahasabha’ 1934 is wrong ? i
(1) C. L. Narasimha Reddy and K. Subrahmanyam established the Sabha.

(2) First:meeting of the Sabha was held at Cuddapah.

(3) N. Pattabhiramarao presided over the first meeting of the Sabha.

(4) The members requested in the first meeting of the Sabha to establish a University at
Tirupathi.
) “ " gg‘[é]
CPObORSS S35858S 1934 £ So2000DS 8§08 TT5eS” DB $BHB 6> ? D
1) 2. & BER0TEBE 300K 8. BoEaiyeaso Se 080 F0T 0.

®

~
(2) ©o g5 B0 Bootsed BITI¥o 5SS’ wORCD.

(3) 8. HIHOITTD e g Boocsed BITIFINSE GES SaroT0.
(4) DEHBE" VFAT5EATRY DTy BAred Bs 387 Boocsed BXrB¥0S” Sgbyes S'odh.

9 A)




26. India shares longest border with

27.

28.

29.

30.

(1) Pakistan

(2) China

(3) Bangladesh

PPOBDES0 0B IS BODER S0BE o BEs00.

(1) >8PS

@ 3=

Chorabari Glacier is located in

(1) Uttarakhand

Sorerd rsrRSsse

(1) égopol

(2) Jammu
& Socs.
(2) &3y

(3) erords

(3) Kashmir

(3) S"'%&S

A pre-monsoonal Rainfall that occurs in Uttar Pradesh

(1) Kalbaisakhi
(3) Tholakari

(2) Andhi

GS/OSF/500

(4) Nepal

@) 3>

(4) Arunachal Pradesh

(4) eSersS H56

(4) Cherry Blossom Showers

SEBERDES” D0V 200BIBBS SBOLHD WEYOIL IO ?

(1) 89
(3) oo

(2) &0

Kovvada in Andhra Pradesh is known for

(1) Solar Power Plant
(3) Hydro Power Plant
SOIEAEE™ Sares B (B2 2

(1) oH§ Jroed
(3) wesogSd Soo

Rhur Basin of India is in

(1) Damodar Valley

(3) Krishna Valley

88 B 39 JodaST KL &od 2

(1) oarsh 6o

3) §°)§e56053

10

(4) 36 T3S eepen

(2) Thermal Power Plant

(4) Atomic Power Plant

(2) 56 356 ol

(4) ©e0 Dogd roel

(2) Chambal Valley
(4) Kashmir Valley

(2) Soed o
@) =38 &an

A
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32.

33.

34.

35.

36.

. Prayagraj is located at the confluence of

(1) Ganga, Yamuna and Brahmaputra

(3) Ganga, Yamliﬁéj and Saraswati
asrhoes ‘ 300 [0K5008° s
(1) Horr, oo S50 @y
(3) TorT, Chmans So0a0 S0wge

Bhangar and Khadar are soils.
(1) Laterite Soils (2) Red Soils
&oKE 508050 aresh Sows.

(1) o365 Soen i (2) A Soed
Kimberlite is the host rock of

(1) Gold (2) Diamond
SoeBes @Bo8), eDPAD 3o.

(1) “worrso ) Seso

Langmuir Precipitation is a type of
(1) Sleet (2) Drizzle

erolyond eSS0 &30 a8 $ER0s
(1) Sooo Sy~ (2) oo

Constitution ?
(1) Indra Sawhney
(3) Minerva Mills

GS/OSF/500

rivers.
(2) Ganga, Alakananda and Brahmaputra

(4) Ganga, Yamuna and Alakananda -

-

E HE
(2) forr, o550t 508050 @IS

(4) Kore, A8 SoBAK eesSols

(3) Black Soils (4) Alluvial Soils

() Sy Joen (4) 2,00 Joeo

(3) Uranium (4) Titanium

(3) %030 (4) Serdaso

(3) Fog (4) Cloud Burst
(3) oo (4) 2570 Ayes0

In which case, Supreme Court of India propounded the doctrine of basic structure of Indian

E¥E

(2) Menaka Gandhi it

I ZZS Kesavananda Bharati |

D E08° R0 D08 §T5E CisoNo Basky, RS DT OB HOTBODOR ?

(1) 3080 @‘%2 ; (2) o5 rod
(3) o by I (4) S8 500 ]

age of 14 years ?

Which Article of Indian Constitution deals with Free Elementary Education to the children below

O Rd0)
(3) Art. 46 (4) Art. 48

14 20358070 50€3 S50)55 S05r0) €8y 2R e EPEans D5 IHBOD g6 Cergoliod™ D efsteo

(1) Art. 40 (2) Att. 45

BeoDHEod ?

(1) ©56e040 - [(2) @R500045 )
11

(3) Q550 46 (4) 500 48

A)
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37. Which British Prime Minister announced that British Rule would end in India formally on
30t June, 1948 ?

(1) Ramsay Macdonald (2) Winston Churchill
(3) Clement Atlee (4) Robert Walpole
5 B35, Prrssoo® @3 e 0805rE” 30 &S 1948 S ©HSOOMT 5000t ESS0TEd ?
(1) oSodBEETS (2) DS 36y
(3) SRooed ee) @) caf>éFS
38. The book ‘Poverty and Un-British Rule in India’ was written by %%
(1) Dadabhai Naoroji (2) D.R. Gadgil )
(3) M. G. Ranade (4) M. Visvesvarayya
‘3§ wok ©S D3N 8rS 3 Focas’ @R DS FDODBO A5E> 9
(1) orogrd F6E (2) &.eb.mgd
(3) M.G. 538 (4) Jo. DIgE By

39. Which of the following is not an indicator of an economically developed country ? gﬁ
(1) A high proportion of labour in the primary sector B

(2) High levels of literacy

(3) Low death rate

(4) High Per Capita Income

55 (308 38" DO esgsor wfHQ BodS BFAE SrIE 5o ¢
(1) DEE Sofod” ehE S0 @A
(2) 85 Fox FTHS

(3) S5 Sotere Bew

(4) 0% 3030 erralo

40. The Government of India has established NITI Ayog to replace the

(1) Planning Commission (2) Finance Commission

(3) Human Rights Commission (4) Labour Commission

5 ($508c0 B 08" B eBThse Food ? %ﬁg
(1) Perdz Sozoo (2) @5 Sooe

(3) 3785 TR oo (4) 8% Sozoo

12 (A)



41. The Financial assets included in the category of M1 are called

42.

43.

44,

45.

(1) Bitco Money

(2) Narrow Money '(3) Bonds

M1 (55508° TehacssS esBE e0To Jo° DesRRd ?

(3) erodd

(2) NABARD

GS/OSF/500

(4) Term Deposits

4) QJS& G2t

(1) 8es,502 (2) 505D (5350
Which bank gives long term loans to farmers ?
(1) RRB

(3) SBI

B0t BYSIE Soeren 3 2P IO 2
(1) @rodab raoes aPgosoed .
(3) {5 ergo8 e godalr

(4) Land Development Bank

() >

Eg&l
E =

4) g @@5&% e8>

Which among the following formulates fiscal policy ?

(1) RBI (2) SEBI

52 (808 38 20 Qs ITTRY ErPodsed

(1) 88 (2) 28

(3) Finance Ministry

]

3) 08 ;’:oo@e‘és FP

From the following, which is not a tool of fiscal policy ?

(1) Interest Rate

(3) Public debt
& (800 38 998 DS F¢5so SO 9B 2

(1) ¢ Bex

(3) ©abSs Soeso

Which tax accounts for the largest share of Andhra Pradesh State Revenue ?

(1) Sales tax (2) Excise duty

SOGRBE TR TGS’ S T Ko B0y D8 9
B 2

46.

(1) es5y%0 3350 (2) zyE Sooko

(2) Tax
(4) Public expenditure

2) 29539y
(4) 808 S50

(3) Mines

(3) Ko

(4) NITI Ayog

4) 28 esB3>R

(4) Stamp duty

(4) o5 cirged

Where is the Indian Institute of Management located in Andhra Pradesh ?

(1) Tirupati

(2) Visakhapatnam

(3) Kurnool

SOEPREEE" Fo&aADS 3y earses 55 Bo35300e5 HoP MHE Kols> 2

(1) BB (2) dwpdeno

13

(3) e

(4) Vijayawada

(4) Desoomres

(A)
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47. Which scheme has been launched to achieve ‘Sunrise AP 2022”7

(1) e-pragati (2) e-governance (3) e-kuber (4) e-procurement
5502 AP 2022} F5o5cd8 FPE080DS S0 98 2
1) e-pnd (2) e-Tres (3) e-%86 4) e85

48. Where is the headquarters of Andhra Pradesh Innovative Society located ? g 5
(1) Vishakhapatnam (2) Tirupati
(3) Vijayawada (4) Amaravati
e0o3EHDE 3T 08D :3”}:03 BT OO0 JELE S0 ?
(1) dzpene (2) BES
(3) e (4) ©500°5S

49. Find the square root of 0.00319225.
(1) 0.0465 (2) 0.0535
(3) 0.0545 (4) 0.0565 %
0.00319225 GBooy, s5GHare0 £35870C. s
(1) 0.0465 (2) 0.0535
(3) 0.0545 (4) 0.0565

50. 9 men earn Rs. 1,050/~ in 10 days. How much can 12 men earn (in rupees) in 8 days ?
(1) 1,020 (2) 1,100
(3) 1,120 (4) 1,200
9 5008 isvey 10 E'erd’ 5. 1,050/- S0rEI50. @008 12 3008 Hthiven 8 Eerd Jo
(BPPAHE’) SoTRTES 2 EEE
(1) 1,020 (2) 1,100 5%'
(3) 1,120 (4) 1,200

51. The product of HCF and LCM of two numbers is 10668. If one of the numbers is 84, find
the other number.

(1) 107 2) 117 (3) 127 4) 137
Botss BoPse K750, 300K E.20.10. © ogo 10668. 738" 2.5 Doy 84 90008 308 Koo
5305708,
(1) 107 . (2) 117 (3) 127 (4) 137
14 {A)
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52. Which one of the following statements is true ? 4G
A. The sum of any two sides of a triangle is less than the third side. EEE
B. The sum of any two angles of a triangle is greater than the third side.

C. In atriangle, a line drawn parallel to one side will divide the other two sides in the same
ratio. :

D. Hypotenuse is the shortest side in a right triangle.

(1A (2B 3)C @D
5o 208 B55T0E DO Desson 9
A. 28 ©E0e06" O Boto 80mre JngRoT AP gons ) S, lg%?é
B. &8 @006 D Sotk Bere osionr Sares Seasn 55 MO8, (ele:
C. &8 Bg0ess0o8 a8 gerRS Birossom AbS $5uts oADK Both oeres SES 25BE"

DERR08.
D. &¥ oowl’s Hgbesnd’ Kk mrer O ghes.

(1 A (2 B . ) C 4 D

53. Iftheci f a circleis C units then find its area (in square units).
CZ CZ ; Cz C2
(D - ) 35 (3) p @ —

2.5 %o 5565 05 C airde ©od o0 3o (11 hrded’) S5080a.
g = 2 L iy 5 4 g
&) Ry @ 3 Gr 5 )

54. In a trapezium having area 60 sq. cm., the length of one of the parallel sides is 12 cm. and the
distance between these parallel sides is 4 cm. Then find the length (in cm) of the other parallel
side. ~

1) 18 @) 20° Q) 24 4) 36
60 5.20.20. §€°050 EOAS 2.8 oo ée‘ﬁoé)aesoés &3y oL HDSTo8s goered’ o8 o DED

12 20.20. 30801 & Tothy SITFoBS goare Mg GI00 4 0.2, @it 58 BETosE ghesn
5350 (20.20.08°%) 5508°0a.

1) 18 @) 20 (3) 24 @) 36
E5E
55. Find the median of the observations 35, 27, 12, 18, 24, 15. m5
1) 12 @) 16~ (3) 18 @) 21
35,27, 12, 18, 24, 15 568050 S0t/ K50808.
(1) 12 Q) 16 (3) 18 @) 21

15 A)




56. A student obtained marks percentage in four subjects as shown in the following table.

57.

Subject Marks Percentage
English 45
Mathematics 86
Science 69
Social Studies 70

GS/OSF/500

E'Jgﬁ']
e

If pie diagram is drawn showing the above data, then find the angle of the sector representing

Science subject.

(1) 60°

(2) 82°

3 2:°

(@) 94°

2.5 D08 oot WERes” SMI St TE0 B $ob HJEE” Srbarse.

‘o’:@% m‘&b@ b Te)

Keddo 86

259 69
POROE F°RO 70

[E#[E
i
=

e
bt

D SE0TRY D-DBE0 T0 DD, P BPH $rDod BFL Sea0i0 K508708.

(1) 60°

(2) 82°

3) 92°

(4) 94°

For a certain data; if arithmetic mean is 34, median is 34.4 then find its mode.

(1) 32.8

(2) 35.2

(3) 36.3

4) 37.4

2.5 DOR ST, @08 BogiyBoses 34, SoggSso 34.4 ©0nd T wrFERod 55806

(1) 32.8

In a family there are four members A, B, C and D. A, B and C respectively get —3~ 5

of a property and the remaining is given to D. Who gets the least share ?

(1) A

(2) 35.2

(3) 363

(2) B

3 C

4) 374

4) D

2. 0208 A B, C 55800 D &3 Sevioth $805e0 &omo. A, B 5000560 C o S5 .8 e)é

1 1

3

(1) A

) B

3) C

16

2, L oo 55508 T, DRDISD D § 5008, < S8y T 085 3y 35 ¢
4

) D‘

A




-

GS/OSF/500

59. Ais thrice as old as B. Four years ago, A was four times as old as B. Find the present age (in years)

60.

61.

62.

of A.

(1) 12 (2) 24 (3) 36 (4) 48

mg@
@i

A 50553 B SEH5503 3 Be0. 4 303870 380, A Scliisa) B Saioinyd Treoty ex. A (5558 Saiis)

(3503855008") §508°06.

(1) 12 (2) 24 (3) 36 4) 48

Find the sum of four digit numbers formed by 3, 5, 8 and 9 without having repetition.

(1) 1,66,000 (2) 1,66,100 (3) 1,66,250 (4) 1,66,650

3,5, 8 500013 9,08, HITBo WO, DyES TreolH ©cSe VoPse oo KT .

(1) 1,66,000 (2) 1,66,100 (3) 1,66,250 (4) 1,66,650

E5E
1F

There are 38 coins in a collection of 20 paise coins and 25 paise coins. If the total value of the

collection is Rupees 8.50, then the number of 20 paise and 25 paise coins is respectively.
(1) 22and 16 (2) 21 and 17
(3) 20 and 18 (4) 19and 19

38 TR000 HarErEns” 20 DO TEFDRo0W $300a0 25 Do T &, T3 o080 Jews

8.50 50000 03T, 20 2ide Bo80K0 25 PRe TEB0e Koy ST

(1) 22 So8a0.16 (2) 21 30850 17

(3) 2050005018 (4) 19 308a5 19

If TIGER is coded as GRTVI, then find the code for ELEPHANT.

(1) VOVKTYMG (2) VOVKSZMG
(3) VOVKTZMG (4) VOVISZNG
e85 $EE TIGER D GRTVI v 0%, &8 §°66° ELEPHANT 2 85003 3¢50 8508706
(1) VOVKTYMG (2) VOVKSZMG
(3) VOVKTZMG (4) VOVISZNG
17

E5E
Ev

(A)
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63. Find the odd figure out of the following in the series.

o O

O o

O o

o<

(2

=T {3
A 0O

@

]

Od

A O

(M

@3 |= O
0

Bod FS3E° K0 Serdy S804,

o d

O o

O o

0

O <

(2

e B

A O

@

J

&

— O

)

3)

(A)

18
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64.

65.

66.

67.

68.

A walks 8 km towards North. From there, he walks 5 km towards South. Then, he walks [E#%E
2 km towards East. How far (in km)1is he from the starting point ? @gﬁﬁ:_

1) Vi3 2) J15 @) 17 @ 19

A &350 3% 8 820, AT, e¥E 30D, 0B 5 8.2, (5§30 IO SETE. epcd, T
TOE 2 8.2, SAT. 9Bt wA0eBes @0 Lo $0odk o8 &3S0 (3.2, oF) &I ?

(1) Vi3 @ Jis 3) V17 @) V19

If 28t February falls on Friday, thenfind the date for the first Monday of January of the same
year.

(1) 4 @5 ¢ 3 6 @ 7
D@30 28 5 3O HETVo wond, 8B So5B 50, 8530 Joocsed Forso 85 K5Sod. g%‘
(1) 4 @5 3) 6 @) 7 ’

A is taller than B, C is taller than D but not as tall as B, E is taller than A. Find the shortest
person among all of them.

(1 A 2B 3)C (4) D

B %085 A 3¢50, D 5085 C B B @0t D0 52650, A 5083 E 2resind. e90nd eotsd
5085 SES FEIS 35§ A58 2

(1 A (2) B 3)C 4) D

A is the father of C but C is not A’s son, E is the daughter of C, F is the spouse of A. B is the
brother of C, D is the son of B, who is the grand father of E ? Elg@
(1) A @B X (3) D 4) F e

C Bty S0t A 50 A% C 35t 5°¢0. C OITZ E, A g1 F. C 25606 B, B 505578 D.
@028 E Go¥), 878 560 2

(1) A (2) B 3 D 4) F

Six persons A, B, C, D, E and F sit around a circular table such that A and F face each other.
C and E are right to A, B and D are side by side. B is left to D and right to F. Find the person
to the immediate left of A. '

(1) E (2) F (3) D 4) B

25 $HTSE 09 ST S 358 A, B, C, D, E 5580100 F &rtigionto. 68 A 500ao F
OS50 DT EFEnTH. A §HAEDHS C 500050 E, B 5000100 D (55, B3 S7tiymmh.

D & DeEss 520000 F § 503395 BETinme. eyt A 8 ot o 55,57y 358 2560 2
|(3) D '

(1) E (@) F 4 B

19 A
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- 69. Find the number at ‘?” in the diagram below.

4

8 /520] 2\ 3
7 \559[126/ 5

Bezs

(1) 73 (2) 91 3) 189 (4) 341
56 (808 $6208° P 5 Sogy EBF 0l

%
é“/

8 /520 B
7 \359|126/ 5 G

6 | 1

.

(1) 73 ) 91 (3) 189 4) 341

70. Statement : Every singer is a student. Every student is a lyricist.
Conclusion : I. Every signer is a lyricist.
II. Some lyricists are students.
Then which one of the following is correct ?

(1) Iistrue and Il is false (2) 1is false and II is true

{®) Iand Il both are true (4) 1and II both are false

BSST0 1 B A 2.8 Do (8 Iovgd a8 A BB,

Sofe®: L (3O monmHe e A G50, ’%ggé
. §o8 S008 A sSoden JTstpee. :

&000B &8 $od TR D0 $Es0 2

(1) 13850 Sobasn 1 e (2) Tedsgo S0 Il D50

(3) 15080 II Bods> 5850 (4) 1308050 I Botsr endso

20 (A)
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71. Two alarm clocks ring at regular intervals of 72 and 50 seconds. If they beep together at 12 noon,

then they beep together again for the first time at %f,:’@
(1) 12:15p.m. (2) 12:30 p.m. e
(3) 12:45p.m. (4) 1:00 p.m.

Bots wePE0 KAATEH000 8.5 550 e0S508" 72 $Eas0otd 2863, 50 §eiooos $o8auo%ed
BB, 099 Sogrssmo 12 Kot 580005008 Sob RrAsS S50 Sod BIR DSocHdSw

(1) 12:15Sp.m. (2) 12:30 p.m.
(3) 12:45p.m. (4) 1:00p.m.

Directions :

The following questions (72 and 73) contain four sentences which in their present arrangement
lack coherence, connection and development. There is only one way of rearranging them to make
a coherent passage. Choose the correct arrangement from the alternatives given and mark your
answer as 1, 2, 3 or 4 in the answer sheet.

[E]5[E]
NS0 : ‘ %’%

@B (58" (72 5800 73) 5753 Tresfid T55es0 SOACIRD. 63 (58 Eoxnd’ @ Tsel”
2 DUFF0 30800 1D, BoRI0E0 TR, V5753500 S0 . 3763 560D, 8.5 E30:5008° ey
SR BBRGEDBOKE BOTESS0r DByciEross. $ots BPDoDS Eined $OIE ARV,
Do s5rered)y 1, 2, 3 8o 4 20 $50S SEres’ Hhosed.

72. a. She studied M.Bi.P.C. at Intermediate level.
b. Harika is an intelligent girl.
c. But she got good rank in NEET and joined in M.B.B.S.

d. Her parents wanted her to study Engineering.

(1) adbe (2) badc (3) cadb (4) dcba
a. e3> gotodydomes s MBiP.C. $56208.
b. 50X BIIS esTyow. , %@
¢. 59 e3> NEET &° 5009 o508 3600 M.B.B.S. & 3608. et
d. &3 EDtsoEes e FORNOON SBATIOVE T 0.
(1) adbe (2) badec (3) cadb (4) dcba
21 A
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73.

74.

15.

a. She was very afraid of cockroach and ran out of her kitchen. @_&?

b. The shopkeeper advised to keep this gel near the kitchen sink. -

¢. One day a lady saw a cockroach rﬁﬁhing across her kitchen floor.

d. She went to a shop and brought c&;ckroach killer gel.

(1) bacd (2) dabe (3) acbd (4) cadb

a. &R0 FHOK S FOHBS S0eNB WAL SEHRYB.
b. e FQ0Y SoOEID S0t B 3¢ 0B EISETEE FOTE FTHED.
C. 288 o8 Solrd 30LnBE™ o 36 F°HoE SERQED) WPI0d.

d e 28 Sowerdd 3P, Qo S0 E S00E3D 3y0d.

(1) bacd (2) dabc (3) acbd (4) cadb

A man divided his total money in his will in such a way that half of it goes to his wife, 2/3™ of
the remaining goes to his two sons equally and the rest goes to his four daughters equally. If each
daughter gets ¥ 18,000, how much moeney will each son get ? @ag
(1) T 58,000 (2) % 65,000 =

(3) 72,000 (4) 80,000

28 558 &3 565 &3y oo e L PEGEOT &S GRS Mo Ter, WADS TIE” 2/3 5 o> &3
ORI JEDDOR ST 53166 SO, DASES ey SIHEL BNIBe0 SETHOMT SoHE ey
DeieoB. (38 B e T 18,000 08, 2535, L5508 52 55 Deoss Jod 2

(1) X 58,000 (2) % 65,000

(3) % 72,000 ; (4) T 80,000

In 5 years ¥ 8,000 amounts to ¥ 10,000. In what time at the same rate will ¥ 2,700 be doubled ?

(1) 15 years (2) 20 years

(3) 18 years (4) 12 years

5 Soshorod" T 8,000 © oy T 10,000 30080 e, €008 &8 St Jodsreod’ T 2,700 o oy
(1) 15 Sosgoes 2) 20 BoSSTes e

(3) 18 sossyores (@) 12 sossyoes

22 A
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76.

71.

78.

9.

80.

81.

82.

83.

84.

PART -B
GENERAL FORESTRY

OpAC
Ee: (

The Five Kingdom classification was proposed by
(1) Carolus Linnaeus (2) Rudolf Virchow
(3) R. H. Whittaker (4) Charles Darwin

The patterns of arrangement of leaves on the stem are called

(1) Venation (2) Phyllotaxy (3) Aestivation (4) Placentation

According to Sach’s, the body of the vascular plant is composed of the following three tissue

systems E]gli]
(1) Epidermis, periderm and phloem =¥
(2) Parenchyma, collenchyma and sclerenchyma

(3) Phloem, parenchyma and xylem

(4) Dermal tissue system, vascular tissue system and fundamental tissue system

The width of a growth (or annual) ring can be a fairly accurate index of the of a particular
year.

(1) Temperature (2) Photoperiod (3) Precipitation (4) Soil fertility

The seeds of the following plants are often called ‘dust seeds’

(1) Lodoicea (2) Orchids (3) Martynia (4) Nymphaea

The complete male flower of the following plant is transported to the female flower for
pollination

(1) Zostera (2) Najas (3) Vallisneria (4) Nymphaea

The eyes of the potato tuber are @%@2
(1) Adventitious buds (2) Axillary buds (B4
(3) Hypophyllous buds (4) Epiphyllous buds

An example of a phosphoenol pyruvate carboxyl kinase (PEP-CK) type of C, photosynthesis
(1) Sugarcane (2) Maize (3) Panicum (4) Amaranthus
During DNA replication, the Okazaki fragments are joined by the enzyme

(1) Helicase A (2) DNA reverse transcriptase

(3) DNA ligase : (4) DNA polymerase

23 (A)
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85. Rice Tungro disease is caused by
(1) Xanthomonas oryzae (2) Pyricularia oryzae

(3) Helminthosporium oryzae (4) A complex two different viruses

86. Which of the following best describes the concept of an ecosystem ?
(1) A community of living organisms interacting with their physical environment

) A group of the same species living 1n a specific area
(3) The process of energy flow through different trophic levels
(4) The rate of biomass production in a given area

87. What does GPP stand for i ecological terms ?
(1) Global Primary Production (2) General Plant Productivity
(3) Gross Primary Production (4) Gross Plant Production

88. An ecological pyramid depicts
(1) The flow of energy through different trophic levels

(2) The number of organisms, biomass, or energy at each trophic level

(3) The rate of decomposition in an ecosystem
(4) The process of ecological succession

3

&=

A

89. What is the role of ecological succession in an ecosystem ?
(1) To show the energy flow through different trophic levels
(2) To depict the rate of biomass production
(3) To illustrate the process of decomposition

w4

(4) To describe the gradual process of change in the species structure of an ecosystem

90. Which of the following is an example of a keystone species ?

{(1) A species that has a disproportionately large impact on its ecosystem l

(2) A species that is at the top of the food chain

(3) A species that is introduced to a new environment
(4) A species with a small population size

91. Which state is the highest producer of cultured shrimp in India ?

(1) Andhra Pradesh | (2) Odisha (3) Gujarat (4) Kerala
92. The Indian pearl oyster is scientifically known as
(1) Pinctada Margaritifera (2) Pinctada fucata
(3) Crassostrea gryphoides (4)7’erna viridis
24
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93.

94.

95s.

96.

97

98.

99.

100.

101.

102.

The venom of Russell’s Vipér primarily affects the

(1) Nervous system (2) Cardiovascular system
(3) Blood clotting mechanism (4) Respiratory system @g@
What is the primary purpose of a Wasp’s sting ? -
(1) To capture prey (2) To defend themselves or their colony
(3) To assist in pollination (4) To mark territory
The edible marine mussel found in India is
(1) Perna viridis (2) Pilaglobosa (3) Sepia officinalis  (4) Unio
What is the main function of worker bees in a hive ?
(1) Layinws (2) Mating with the queen
(3) Collecting nectar and pollen (4) Guarding the hive only

E5E
What is the primary treatment for parasitic infections like worms in livestock ? 5?;32
(1) Antibiotics s (2) Vaccination
(3) Deworming medication:. - (4) Painkillers

Which viral disease affects cloven-hoofed animals and causes blisters in the mouth and
hooves ? 9

(1) Brucellosis (2) Foot and Mouth Disease (FMD)
(3) Rabies (4) Tuberculosis

Which deficiency causes rickets in young animals, leading to weak bones ?
(1) Vitamin A (2) Calcium and Vitamin D
(3) Iron hsfed (4) Zinc

Which disease is caused by the bacterium Mycobacterium bovis and affects cattle, sometimes
spreading to humans ?

(1) Tuberculosis ] (2) Black quarter
(3) Rabies (4) Hemorrhagic septicaemia

E%[E
Which of the following is NOT a macronutrient required for livestock ? B
(1) Protein (2) Carbohydrates '
(3) Vitamins (4) Fats

The venom of the Common Krait (Bungarus caeruleus) is mainly
(1) Hemotoxic (2) Myotoxic (3) Cytotoxic (4) Neurotoxic
25 (A)
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&

103. What is the primary reason for bird migration ? Egzg
(1) Search for food and suitable breeding grounds B
(2) Escape from predators
(3) To avoid social conflicts
(4) To find new nesting materials
104. What is mastitis in dairy animals ?
(1) Inflammation of the lungs due to viral infection
(2) Inflammation of the udder due to bacterial infection
(3) A genetic disorder affecting milk production
(4) A deficiency disease affecting calcium levels
105. Which of the following animals are classified as small ruminants ?
(1) Cattle and buffalo (2) Sheep and goats
(3) Horses and donkeys (4) Pigs and rabbits —
106. Which of the following statement is false in relation to deforestation ? {5%
(1) Urbanization (2) More biodiversity
(3) Expansion of agriculture (4) Timber purpose
107. Which of the following in not a reason for drought ?
(1) High soil salt concentrations (2) Low rainfall
3) I-)epletion of ground water (4) Increasing global temperatures
108. Extraction of mineral resources causes
(1) Loss of biodiversity (2) Erosion
(3) Water pollution (4) All of the above
109. Bauxite is an ore of
(1) Barium (2) Aluminum (3) Mercury (4) Copper
110. Agrobacterium tumefaciens is 1]
(1) Useful for modern agriculture OFs-
(2) Causative agent of crown gall disease
(3) Useful for genetic engineering experiments
(4) All of the above
111. Salt-tolerant plants are called

(1) Glycophytes (2) Heliophytes (3) Halophytes

26

(4) None of the above
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112.

113.

114.

115.

Which of the following is a type of renewable energy source ?

(1) Geothermal (2) Nuclear (3) Coal (4) Natural gas

Desertification is a cause of

N Deforestation (2) Drought
(3) Loss of vegetation (4) All of the above

.S E¥E
Recent Wayanad disaster in India was caused by g@
(1) Volcanic c:gption (2) Landslide
(3) Low temperature (4) Gas leak

Which forest type is characterized by trees that shed their leaves during the winter and hot summer
months ?

(1) Evergreen Forest (2) Deciduous Forest
(3) Thorn Forest (4) Mangrove Forest
116. Which of the foﬂowing is a characteristic feature of the grassland ecosystem ? Z?_g
(1) High rainfall (2) Dense vegetation =
(3) Low watgr,;vailability (4) High biodiversity
117. Which of the foilowing is NOT a traditional logging tool ?
(1) Hand saw (2) Chainsaw
(3) Axe £23 (4) Wedges and mauls
118. Which wood seasoning method involves applying heat in an enclosed space to remove
moisture ?
(1) Air seaséiﬁiﬁg (2) Solar seasoning
(3) Kiln seasoning (4) Chemical seasoning
E¥E
119. Which type of fungi is most notorious for causing dry rot in wood ? ;}gﬁ
(1) White rot fungi (2) Brown rot fungi
(3) Dryrot Engus (4) Blue stain fungi
120. Which method of wood transport involves tying several logs together to move them as a single

structure ?
(1) Floating (2) Rafting (3) Wire Rope-Ways (4) Forest Tramways

27 (A)
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121. Why is understanding wood anatomy essential for efficient use ? %
1) It helps identify aesthetically pleasing wood grains (el
(2) It reveals the optimal methods for processing and utilization
) It allows for accurate prediction of market trends

(4) It helps trace the origins and history of specific wood pieces

122. Which of the followinE is NOT a characteristic used in field identification of timbers ?
(1) Chemical composition (2) Hardness

3 ) Colour (4) Lustre

123. Timbers are broadly classified into two main groups based on their macrostructure. What are these

groups ?
{(1) Hardwood and Softwood ) (2) Porous and Non-porous
(3) Light and Heavy (4) Durable and Non-durable

124. In Andhra Pradesh, which organization is primarily responsible for collecting and selling the
majority of Minor Forest Produce (MFP) items ?

Ok 0]
(1) Forest Department E%
(2) Girijan Cooperative Corporation
(3) Ministry of Micro, Small and Medium Enterprises
(4) Municipal Administration and Urban Development Department

125. Biodiversity is valued for

(1) Preserving ecological processes 2) Maintaining the hydrological cycles
(3) Global life support {(4) All of the above
E#E

126. Which of the following is NOT an example of an endemic species to Andhra Pradesh ? gg%

(1) Kalanchoe cherukondensis (2) Pimpinella tirupatiensis

(3) Ophiorrhiza chandrashekharni (4) Lilum chitrangada
127. The complete disappearance of a species from a specific area but not from the entire planet is

known as

(1) Extinction (2) Endemism (3) Exoticism (4) Extirpation

128. The hot spots of biodiversity are characterized by
(1) Low population, low endemicity and low threat of extinction
(2) Low population, low endemicity and higher threat of extinction
(3) Rich population, hif_;h endemicity and low threat of extinction

(4) Rich population, high endemicity and high threat of extinction

129. The following is NOT an invasive alien species in aquatic ecosystem.
(1) Water hyacinth (2) Water lettuce (3) Salvinia (4) Vallisneria
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130. An organism that is modified by the environment is known as
(1) Species (2) Genotype ' (3) Ecad (4) Prototype
131. The food chain that transports ff;bd from the larger to smaller organisms is known as %ﬁ
(1) Predatory food chain (2) Grazing food chain "
(3) Detritus food chain (4) Parasitic food chain
132. The phenomenon of a stand of forest trees losing health and dying without an obvious cause is
called ~
(1) Disaster (2) Mild symptom (3) Extreme symptom [(4) Forest dieback
133. Which one of the following is an abiotic stressor to which forests are susceptible ?
(1) Frost (2) Oomycete (3) Parasite (4) Pathogen
134, Large-scale forest die-offs take place due to the biotic agent
{ (1) Insect pathogens }(2) Age (3) Chemical (4) Water deficiency
135. What is the benefit of biologicéfc‘ontrol of forest pests ?
(1) High cost (2) Low.cost (3) Pest control (4) Tolerance
136. Which one is a microbial agent m biological control ?
(1) Ladybugs (2) Praying mantises (3) Cuckoos (4) Fungi
137. The advantage of chemical pesticides to control pests is
(1) High efficacy (2) Good control (3) Low efficacy (4) None of these
138. Which one is a traditional methéd of firefighting in forests ? Egﬁﬂ
(1) Fire alert system A (2) Mobile squads [
(3) Communication devices (4) Counter fire
139. Which one is a modern method of firefighting in forests ?
(1) Controlled burning (2) Fire terracing
(3) Fire watchers i (4) Fire alert system
140. The practice of logging trees iquerest areas that have been damaged by wildlife is called
(1) Timber harvest s (2) Damaged timber harvest
(3) Salvage logging (4) None of these @gm
141. The practice of afforestation is aimed at Eles
(1) Releasing CO, (2) Capturing and storing CO,
(3) Storing pollutants “4) Capturmg CO
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142. What is the role of forest regeneration ?
R “ . -« —l . .
(1) Mitigation of greenhouse effect (2) Increasing global warming
(3) Increasing CO, levels (4) Increasing CO levels
143. The practice of regulating the amount of grazing time and consumption levels in a pasture is called
(1) Split ranch grazing (2) Eco-grazing
(3) Rotational grazing (4) Controlled grazing
50
144. Wild animals are useful in increasing the reliability of natural regeneration through ﬁ%‘g
Eas -
(1) Seed dispersal (2) Pollinator dispersal
(3) Infestation (4) None of these
145, What is poaching ? »
(1) Protecting animals (2) Making medicine
(3) Iilegal hunting of wild animals (4) All of these -
146. Slash and burn agriculture is called &%
(1) Industrial forestry (2) Conservation forestry
(3) Tree cultivation " | (4) Shifting cultivation
147. Systematic collection of data and forest information for assessment or analysis is referred to as
(1) Plant inventory ' (2) Animal inventory
23) Forest inventory (4) Wildlife inventory
148. What is the primary aim of India’s National Energy Policy (NEP) ?
(1) To promote energy independence through coal-based power plants.
{2) To achieve 100% nuclear eriergy generation by 2050. ,
(3) To ensure energy access to all while promoting energy security, affordability and sustainability
(4) To ban all fossil fuel imports by 2030
149. Which form of radiation is completely absorbed by ozone layer ?
(1) UV-A (2) UV-B (3) UV-C 4) UV
150. Which Act is aired at the protection and improvement of the environment ? iﬁ%’%
(1) Wildlife (Protection) Amendment Act, 2022 D

(2) Biological Diversity Act, 2002
(3) Wildlife Protection Act, 1972

(4) Environment Protection Act, 1986
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